REVD POLLING STAFF MATRIX - DECEMBER 15 2020 PARLIAMENTARY BY-ELECTION

I WARD	ENTRE CODE	NAME OF CENTRE	TOTAL REGISTERED VOTERS	NUMBER OF POLLING STATIONS	REGISTERED VOTERS PER POLLING STATION
--------	---------------	----------------	-------------------------------	-------------------------------------	--

SOUTHERN REGION

DISTRICT: 16 MANGOCHI

Constituency Code: 108 Mangochi North East

WARD	CENTRE CODE	NAME OF CENTRE	TOTAL REGISTERED VOTERS	NUMBER OF POLLING STATIONS	REGISTERED VOTERS PER POLLING STATION
0254 Malindi	16021/1	Malindi Primary School/1	2,346	3	782
	16021/2	Malindi Primary School/2			782
	16021/3	Malindi Primary School/3			782
	16022/1	Chipereka School/1	2,061	3	687
	16022/2	Chipereka School/2			687
		Chipereka School/3			687
	16023/1	Makumba School/1	2,981	3	994
	16023/2	Makumba School/2			994
	16023/3	Makumba School/3			994
	16024/1	Ntengeza School/1	2,921	3	974
	16024/2	Ntengeza School/2			974
	16024/3	Ntengeza School/3			974
	16025/1	Mdala Makumba School/1	1,168	2	584
	16025/2	Mdala Makumba School/2			584
	16026/1	Taliya School/1	1,050	2	525
	16026/2	Taliya School/2			525
	16027/1	Sungusya School/1	1,574	2	787
	16027/2	Sungusya School/2			787

WARD	CENTRE CODE	NAME OF CENTRE	TOTAL REGISTERED VOTERS	NUMBER OF POLLING STATIONS	REGISTERED VOTERS PER POLLING STATION
1	7	Ward Total	14,101	18	14,103
0255 Mikongo	16028/1	Chimbende School/1	1,615	2	808
	16028/2	Chimbende School/2			808
	16029/1	Njera School/1	1,110	2	555
		Njera School/2			555
		Chikomwe School/1	2,066	3	689
		Chikomwe School/2			689
		Chikomwe School/3			689
		Malukula School/1	1,655	2	828
		Malukula School/2			828
		Mtamira School/1	1,255	2	628
	16032/2	Mtamira School/2			628
	16033/1	Chiusi School/1	1,372	2	686
					686
	16034/1	Malombera School/1	1,095	2	548
	16034/2	Malombera School/2	_,		548
	16035/1	Litete School/1	1,535	2	768
	16035/2	Litete School/2			768
	16036	Masi J. P. School	746	1	746
1	9	Ward Total	12,449		12,455
0283 Mtumbwasi	16238/1	GVH Mbaluku / Market/1	2,136	3	712
	16238/2	GVH Mbaluku / Market/2			712
	16238/3	GVH Mbaluku / Market/3			712
1	1	Ward Total	2,136	3	2,136
0284 Mwasa	16239/1	St Augustine II School/1	2,815	3	939
(··· 		St Augustine II School/2	2,013		939
	16239/3	St Augustine II School/3			939
1	10233/3	Ward Total	2,815	3	2,817
4	18	Constituency Total	31,501		31,511

WARD	CENTRE CODE	NAME OF CENTRE	TOTAL REGISTERED VOTERS	NUMBER OF POLLING STATIONS	REGISTERED VOTERS PER POLLING STATION
------	----------------	----------------	-------------------------------	-------------------------------------	--

Constituency Code: 115 Mangochi West

WARD	CENTRE CODE	NAME OF CENTRE	TOTAL REGISTERED VOTERS	NUMBER OF POLLING STATIONS	REGISTERED VOTERS PER POLLING STATION
0268 Mvumba	16163/1	Kabudira II School/1	1,815	2	908
	16163/2	Kabudira II School/2			908
	16164	Kapirimtiwa School	760	1	760
	16165/1	Chimvuu I School/1	2,238	3	746
	16165/2	Chimvuu I School/2			746
	16165/3	Chimvuu I School/3			746
	16166/1	Maundu school/1	1,787	2	894
	16166/2	Maundu school/2			894
	16167/1	Sokole School/1	1,498	2	749
	16167/2	Sokole School/2			749
	16168/1	Thema I School/1	1,598	2	799
	16168/2	Thema I School/2			799
	16169	Katondo School	677	1	677
	16170/1	Makunula School/1	1,110	2	555
	16170/2	Makunula School/2			555
	16171	Mlambe School	649	1	649
	16172	Suludi School	692		692
	16173/1	Thema II School/1	1,142	2	571
	16173/2	Thema II School/2			571
1	11	Ward Total	13,966	19	13,96
0269 Malembo	16174/1	Malembo School/1	2,942	3	981
	16174/2	Malembo School/2	2)3 12		981
		· ·			

WARD	CENTRE CODE	NAME OF CENTRE	TOTAL REGISTERED VOTERS	NUMBER OF POLLING STATIONS	REGISTERED VOTERS PER POLLING STATION
	16174/3	Malembo School/3			981
	16175/1	Chantulo School/1	2,525	3	842
	16175/2	Chantulo School/2			842
	16175/3	Chantulo School/3			842
	16176/1	Funwe School/1	1,303	2	652
	16176/2	Funwe School/2			652
	16177/1	Mangombo School/1	2,209	3	737
	16177/2	Mangombo School/2			737
	16177/3	Mangombo School/3			737
	16178	Chimvuu II School	695	1	695
	16179	Sangadzi II School	736	1	736
	16180/1	Chilumba School/1	1,269	2	635
	16180/2	Chilumba School/2			635
	16181/1	Mchema School/1	1,052	2	526
	16181/2	Mchema School/2			526
	16256	Mpata School	493	1	493
1	9	Ward Total	13,224	18	13,230
2	20	Constituency Total	27,190	37	27,198

WARD	CENTRE CODE	NAME OF CENTRE	TOTAL REGISTERED VOTERS	NUMBER OF POLLING STATIONS	REGISTERED VOTERS PER POLLING STATION
------	----------------	----------------	-------------------------------	-------------------------------------	--

DISTRICT: 25 PHALOMBE

Constituency Code: 171 Phalombe North

WARD	CENTRE CODE	NAME OF CENTRE	TOTAL REGISTERED VOTERS	NUMBER OF POLLING STATIONS	REGISTERED VOTERS PER POLLING STATION
0417 Khongoloni	25038/1	Mitekete School/1	2,226	3	742
	25038/2	Mitekete School/2			742
	25038/3	Mitekete School/3			742
	25039/1	Mileme School/1	4,150	5	830
	25039/2	Mileme School/2			830
	25039/3	Mileme School/3			830
	25039/4	Mileme School/4			830
	25039/5	Mileme School/5			830
	25040/1	Bona School/1	1,549	2	775
	25040/2	Bona School/2			775
	25041/1	Malambwe School/1	1,850	2	925
	25041/2	Malambwe School/2			925
	25042/1	Khongoloni School/1	1,948	2	974
	25042/2	Khongoloni School/2			974
	25043/1	Namanjerema School/1	2,408	3	803
	25043/2	Namanjerema School/2			803
	25043/3	Namanjerema School/3			803
	25044/1	Dzanjo School/1	2,421	3	807
	25044/2	Dzanjo School/2			807
	25044/3	Dzanjo School/3			807
	25045/1	Chisengeleni School/1	1,589	2	795
	25045/2	Chisengeleni School/2			795

WARD	CENTRE CODE	NAME OF CENTRE	TOTAL REGISTERED VOTERS	NUMBER OF POLLING STATIONS	REGISTERED VOTERS PER POLLING STATION
1	8	Ward Total	18,141	22	18,144
0418 Thundu	25046/1	Milepe School/1	1,210	2	605
	25046/2	Milepe School/2			605
	25047/1	Mianga School/1	2,387	3	796
	25047/2	Mianga School/2			796
	25047/3	Mianga School/3			796
	25048/1	Baani School/1	1,513	2	757
	25048/2	Baani School/2			757
	25049/1	Mwanga School/1	1,152	2	576
	25049/2	Mwanga School/2			576
	25050	Chithumbwi School	823	1	823
	25051/1	Tchereni School/1	1,728	2	864
	25051/2	Tchereni School/2	·		864
	25052/1	Chitekesa School/1	1,716	2	858
	25052/2	Chitekesa School/2	·		858
1	7	Ward Total	10,529	14	10,531
2	15	Constituency Total	28,670	36	28,675
8	53	Total Southern Region	87,361	115	87,384
8	53	NATIONAL TOTAL	87,361	115	87,384

	WARD	CENTRE CODE	NAME OF CENTRE	TOTAL REGISTERED VOTERS	NUMBER OF POLLING STATIONS	REGISTERED VOTERS PER POLLING STATION
--	------	----------------	----------------	-------------------------------	-------------------------------------	--

SUMMARY

NUMBER OF WARD	NUMBER OF CENTRES	REGIONS	TOTAL REGISTERED VOTERS	NUMBER OF POLLING STATIONS	REGISTERED VOTERS PER POLLING STATION
8	53	NATIONAL	87,361	115	87,384